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Brass	Synthesizer,	This	Song	was	sequenced	by
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Synth.

Synth.


















 




 












  


  






































 





 











 





 





















 

 

















 










 

 























 












 


















  


 

















 






























 






























































 











































 










 



 



 


 


































 







 



 













	=	255








































 


















7











80

74

77

71

Synth.

Synth.

Synth.

Synth.

Synth.

Synth.

Synth.

Synth.










































 

 

  




 
















  






  








 











 



 































 







 









 




















  
 



















































 



 

 

 









 





 







 











  



























 





 




  

 



 





  




  




















 



 







 






























 



 





 

 













 







 





















 





































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86

89

92

83

Synth.

Synth.

Synth.

Synth.

Synth.

Synth.

Synth.

Synth.



























  





















 






































































































































 

















 





  



 



 



  


 



 



 

  






   





 

   











 












  

 





   



  












 







 


 

































  

 





 









 
























 












































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101

104

98

95

Synth.

Synth.

Synth.

Synth.

Synth.

Synth.

Synth.

Synth.








 











































 



















 





  

 

 























 











 
















  




















 







 































 












 

















 

















































 


















 









 



 

 

    

 










 



 


 






 



 





 



  

 






































































 









 



 


  





 



 


	=	120































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110

106

108

112

Synth.

Synth.

Synth.

Synth.

Synth.

Synth.

Synth.

Synth.


















 

























 








































 







 














 







 




 




 








  































 

 
 
















































 
























 












































 




























 





























 





















 















 









































 







 







 















































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114

118
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